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Compare A and B:

Compare C and D:   
A:
Area = 
Perimeter = 
C:
Area = 
Perimeter = 
D:
Area = 
Perimeter = 
B:
Area = 
Perimeter = 
c)
Shape A: 
a)
b) 

Shape B: 
a)
b)
Shape C: 
a)
b)
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5. Find the missing values in the shapes: 
Identify the shape that has a different total perimeter. 
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Area and perimeter &
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Discover

We used ribbon to decorate the Your card is a square and
edges of the cards. We used mine is a rectangle. The
32 cm of ribbon for each card. length of my card is 10 cm.

@ e ribon fits around each of the cords exactly.
@) What is the area of Lee's card? What i the area of Jamilla's card?

b) Mrs Dean picks up another card from the table. What could be the
area of the card she chooses? What do you notice?

a) Find the length and width of each card, then find the area. d

b)

The length of each ribbon is 32 cm. So the perimeter of each

card is 32 cm.
8cm
8cm 8cm
8cm
Length of the square
=32+4=8cm

Area = 8 cm x 8 cm = 64 cm?

The area of Lee's card is 64 cm?.

6cm

10cm 10cm

6cm
Length + width =32+ 2= 16 cm

Width =16 cm — 10 cm = 6 cm
Area =6 cm x 10 cm = 60 cm?

The area of Jamilla's card is 60 cm?.

Perimeter = 32 cm so length + width = 16 cm.

Some possible areas of Mrs Dean’s
card are:

Areaof A=13x3=39cm?

Area of C =1 x 5="55cm?

Area of B=12 x 4 = 48 cm?

have the same perimeter.
but different areas.

I notice that rectangles can

Area of D=
7x9=63cm?
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Think togeth

o Three different gardens each have a perimeter of 20 m.

@) What are the missing lengths and widths?
b) What is the area of each garden?

©) What is the same about the gardens? What is different?
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e Calculate the areas and perimeters of these pairs of shapes, then
compare them.
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Area and Perimeter

4. Circle the shape has a different fofal perimeter fo the others.
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5. Using the formulas p = 2/ + 2w and a = w x /, find the missing values of the shapes
below.
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6.The shape below has an area greater than 100m?.

Work out the possible perimeter of the shape. Convince me.
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